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QUESTION 1

A Java EE application is deployed to a horizontal cluster and makes use of HTTP session objects. The administrator is
required to ensure failover of these session objects, and chooses to implement memory-to-memory replication. To
maximize chances of successful failover, how should the administrator configure the replication? 

A. Select Entire domain for the number of replicas. 

B. Select Single replica and select the default tuning parameter. 

C. Select Single replica and select "Very high" for the tuning parameter. 

D. Specify at least 3 replicas and select "Very high" for the tuning parameter. 

Correct Answer: A 

 

 

QUESTION 2

An application is deployed to a WebSphere Application Server ND V8.0 cluster consisting of four cluster members. 

Assuming the cluster is stopped, what should a system administrator do to delete the cluster? 

A. Delete the cluster. 

B. Remove the cluster members and delete the cluster. 

C. Uninstall the application and delete the cluster. 

D. Uninstall the application, remove the cluster members and delete the cluster. 

Correct Answer: A 

 

 

QUESTION 3

A system administrator needs to increase messaging throughput across multiple servers. What should the administrator
do? 

A. Enable protocol transformation between buses. 

B. Add a cluster to the bus and create multiple messaging engines. 

C. Use a proxy server to route messages to multiple messaging engines. 

D. Create a mediation to manage the messaging work load across servers. 

Correct Answer: B 
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QUESTION 4

A system administrator needs to submit a wsadmin job to change the configuration of an enterprise application within a
flexible management environment. What should the administrator do? Connect to: 

A. Node Agent 

B. Administrative Agent 

C. Job Manager 

D. Work Manager 

E. Deployment Manager 

Correct Answer: CE 

 

 

QUESTION 5

A system administrator needs to install the IBM Installation Manager (IIM) using non- graphical interactive mode. To
perform this operation, what should the administrator run? 

A. imcl -c 

B. imcl -s 

C. imcl -install 

D. imcl -updateAll 

Correct Answer: A 
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